10 | O

0 |©o




2.

U7k

AJn
S

)

5]

B

LA 64

BK

@



o] obd 212 ol

|

A A=

I

il
=
Xjo

In

o




I R

2.5

[ ]

24+4




$o) £54E AolH & vp

5.

38)26,

38) 266
266



6.

Aol Bo] 2718 lmste] >, < =& U

154.56 +8 O 164.16 = 9




7. 71EFol Hlashs oFe] 68l & wj, vp=A] 2ot

D 5:30 @ 8:48
@ 2:12 ® 7:41



8.

WeAlS shA L.




N

1
1-L
@ 3

2
2-L
© 3

2 1
10-L 5-L
v 3 @ 3



10. o= WeAls shA 2.

3
2=x2+3
7
13 13 13 13 13
1— 2— — 4— —
O 21 2 21 ®321 ® 21 ©521




%
i

N
)
%

<F
il
Bl
T
Bl
ol
nw_lo
0
I
o

e
BH

11.



12. thg2 g oje Jh Wyow 9
2L,

—

rlo

AdUch ZX 92

D 4:9= 99 49 tist H] ® 7:10= 7110

® 3:8 = 3189 H| @ 6:7=62] 7] Tt H]
® 2:5= 59 tigt 29] H]

Py
o



o 3

< Q

] <

™ ™ 100
it

- ®
A

&y

ofu

Y| o 5w
0| - o @
<SS =
= o0 |enen | 00
3 ® ©
i

<=

<

or SER
& ¢ B
uid S
oﬁ =000 o
9

o © ©




14. o= 89 g 7ot 259 242 e o] Atz 24 2.

6:15

o e

>



3
15. 22 TR HEAE 3 &2 A= Dol BTy 1-kg ol Az YT
oo} 2L FFe] ABAE 8 Fo| BAL D kg 17| oA L.
17 17 17
O —kg

1=k 2"k
19 @ 15 ke ® 25 ks

17
@ 3—kg ® 4ﬁkg



16. t= JALE=FS &l

st

_

@ Wo] g 7|7} opd Yt}
@ FHAH ] 47fd Tt
® ZA7F 107G
@ Qo] Azrge] opdyrh
®

7o) 47} s vk,



it
a
e

=
HU >
[¥
>,
fo

V]

L

L

g ©

n

>
i)
e
o

g
Lo

>

1

=

A

N

1

b
o

)

ol 4, mA2]

2~
T

=
=

7}t

7}

75t 2|



18. 1% HE7H 152 3¢ 19kmE 25U 129 & 2 kmE TH
_)

A7 wrEEste] 2 4 A7 HERHALL. (0.666--- — ©f
0.67)

aa:%ikm



19. Hlgo] @2 ARH A2 £ AL A=A L.

@ 4:10 © 82 259 tigt H]
© 20°] tigt 79 H|

© 006,06 ©® 0,6,0 ® 0,006
@ 0,60 ® 6,060



=
=

o 7

o) ] 75

T
=

o] 20 7% Z}7)55 9] el Fj4-2}
o] 7

o] 19 7H

o
5] %

oF @A 9] 2]

_/'\_
o] %o} mAfel 2]

3% 9]
ok
b

A
S

Iz
=
e
=
___rL

20.



